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 5. Four masses on a horizontal, frictionless surface are linked together by strings P, Q and R.

A constant force is applied as shown.

RQP 10 kg 40 kg

constant 
force 30 kg 20 kg

The tension in the strings is

A greatest in P and least in Q

B greatest in P and least in R

C greatest in R and least in Q

D greatest in R and least in P

E the same in P, Q and R.

 6. A student makes the following statements about an elastic collision.

 I Total momentum is conserved.

 II Total kinetic energy is conserved.

 III Total energy is conserved.

Which of these statements is/are correct?

A I only

B II only

C I and II only

D I and III only

E I, II and III


